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Dx+2x = 2)2x —3x =
3)5x+%x= 4)15x+6%x=
5)3.2x + 5x = 6) 8.1x + 14x% =
7) 5y + 2x = 8) 24y +5x+3y =
9) 2.5x% + 5y% + 12y% = 10) 5a + 2b + 3ab + 2a =
11) 10z + 3x + 4x = 12)z+x+y+5z+ 2y =
13) 14x — 2z — 15x + 17z = 14) 5a? 4+ 3z — 16.50% =
15) — 18.7x — 13y%? — 2.5x = 16)x+xy+yx+y—3x+2y=
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17) 2x2%y + y?x — 5x%y + 2y =
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MK | N'tImd na'wn

18) 2.25a + 3.75b — 5.2a + 1.5b =

1
20) §a+3.4b+5c+4a—6b=

NRIvn nnon

3 2 1 720N

S%x —X 3x nIvn

6 5 4 720N

8.1x + 14x? 8.2x 21 %x AR110})!
9 8 7 720N

2.5x2 + 17y? 5.4y + 5x 5y + 2x nIwn
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15) 6y - 2x-12xy = 16) 7a-8ab-b =
17) 3mk - 7k - (—=(—2am)) = 18) 4.5ab - 2bc - 4ac =
19) xy-yz-xz = 20) 3acd - 6abc - 4bd =
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D2(x+1)= 2)3(y—2) =

3)5(x +7) = 4) —x(y +5) =

5)— (x—4)-3= 6) (—a—b)-7=

7) x(x +5) = 8)x(x—8) =

9) 3x(x — 9) = 10) 8(5a — 4b) ¢ =

11) k(4k —5)-9 = 12) —2(t—6) -3t =
13) k(7m —3) -m = 14) =53t + 6s) 1 =
15) 8b(3b + 9a) = 16) 55(4 + 55) =

17) —(8+r+5):6= 18) 4(—6 — 7n — 2m) =
19) — (=t + 125 + 4)2 = 20) — 2(—4a — 6b + 5) =

MUNI>'091 NINAA NT79 DIAN
D90 NKXXIN | D"VI9 DIY'Y | MVNID'0D | NN
www.aviramfeldman.co.il



MK | N'tImd na'wn

NnRIYn NNon

3 2 1 720N

5x + 35 3y—6 2x + 2 nIvn

6 5 4 720N
—7a—7b —3x + 12 —Xxy — 5x nIvn
9 8 7 720N

3x2 —27x x? —8x x? + 5x naIwn
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15 14 13 120N
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1) (x+3)(x + 1) 2) (x—2)(x+5) =
3)(x—4)(x—6)= Hx—Nx—4) =
5) (@ —b)(a+c) = 6) (5+x)(5+x) =
7) Bk —4)(5 + k) = 8) B—1)(r+2) =
9) (7 —x)(x — 6) = 10) — (x + 6)(x + 9) =
1) x-7(x+7) = 12) (—4 + 2x)(7 — 5x) =
13) (m+1)(m+5) = 14) 2r+2+71)(5+7) =
15) (7x = 5)(9 + x) = 16) (x + 4 — 2x)(5 + 9x) =
1) x+Dx+y—1) = 18) (2x + 7)(1 — 3x) =
19) (5x — 6)(7 — 3x) = 20) (5x — 8)(5x + 8) =
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7) 7xy + 35x% + 14x = 8) 24x + 64 =
9) 49a + 28b + 63c = 10) 56x + 88y — 48 =
11) 60x — 36y + 144 = 12) —15x — 75y + 30 =
13) 33x% — 55x + 121 = 14) 30x — 36y + 54z =
15) 15xy + 20x%y — 5xy? = 16) 3abc — 12bc + 15bcd =
17) 27xy? — 36y + 15xy = 18) 52x2%y + 13x% — 26x%z =
19) 51abc — 17ab + 34abd = 20) 21t%r — 9tr + 18tr? =
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1D (x+3)?%= 2) (x —3)% =
3) (x +8)2 = 4) (x+5)(x—5) =
5) (a + 6)% = 6) (2 + 4)% =
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7)(a=7)=

NB+y)B—y) =

11) (c — 12)2 =

13) (x + 14)(14 — x) =

15) (2x — 5)2 =

17) (8a — 1)2 =

19) (6 —5x)(5x + 6) =

An237 | TeninD navwn
8) (x+1(x—1) =

10) (x +9)(9—x) =

12) (x — 11)? =

14) (3 — 2x)(2x +3) =

16) (4x +3) =

18) (8 — 7x)(7x + 8) =

20) (5x +7)% =
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x% + 16x + 64 x2—6x+9 x2+6x+9 nIwn
6 5 4 720N
z2+8z+ 16 a’?+ 12a + 36 x?—25 AR110})]
9 8 7 120N

64 — y? x? -1 a’ — 14a + 49 nIwn

12 11 10 120N

x% —22x + 121 c? — 24c + 144 81 — x? nmuwn
15 14 13 720N

4x? — 20x + 25 9 — 4x? 196 — x? nIwn
18 17 16 120N

64 — 49x? 64a® — 16a + 1 16x2 + 24x + 9 nIvn
20 19 120N

25x2 + 70x + 49 36 — 25x2 nIwn
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Dx?+2x+1=

3) x%2 —10x + 25 =

5)x% —14x + 49 =

7)x%? —4 =

9)x% + 12x + 36 =

11) 4x% — 4 =

13) 9x2 + 48x + 64 =

15) 81x2 — 81 =

17) 36x% — 16 =

19) 64x% —16x + 1 =

2) x> +6x+9=

4)x?—16 =

6) x? + 20x + 100 =

8) x? — 16x + 64 =

10) x? + 22x + 121 =

12) 25x2 — 40x + 16 =

14) 16x2 — 25 =

16) 4x? —12x +9 =

18) 49x2 + 70x + 25 =

20) 144x% —72x + 9 =
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(x — 5)2 (x +3)2 (x +1)2 nIwn
6 5 4 720n

(x + 10)? (x — 7)? (x+4)(x — 4) nIwn
9 8 7 720n

(x + 6)? (x — 8)2 (x+2)(x—2) nIwn
12 11 10 '720n
(5x — 4)? (2x +2)(2x — 2) (x + 11)? nIwn
15 14 13 '720n
9x+9)(9x —9) (4x + 5)(4x — 5) (3x + 8)? nIwn
18 17 16 720n
(7x + 5)2 (6x + 4)(6x — 4) (2x — 3)? nIwn
20 19 720N

(12x — 3)? (8x — 1)? nIwn
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